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(1) Teacher:

Student: I have a sharp pain in my neck.
(A) What is in your neck?

(Bl What’s the matter?

(© What symptoms have presented?
(D) Where does it matter?

(2) Friend A: Would you like to go for a walk?
Friend B:

(A) 1 don’t agree.

(B No, I wouldn’t walk.
(©) Yes, I also think so.
D Yes, I'd love to.

(3) Father: Aren’t you going to school today?
Daughter:

(A) How about you?
(B) I didn’t go yesterday.
(C) No, it’s a regular school day.

(D Yes, but not until the afternoon.

(@) Customer: Do you have this shirt in brown?

Employee:

(A) T'm sorry, we only have it in brown.
(B) Just a moment. I'll check if we do.
(© No, it’s not brown. It’s black.

(D Yes, we have one white shirt left.



(5) Student A: How do you find your computer class? I heard it’s harder than
mine.

Student B:

(A)  Go down this hallway and turn left at the end.
(B 1 heard that it’s quite easy from my friend.
(© 1t is hard, but I'm really enjoying learning about Al

(D Yeah, it’s really difficult to find the computer room.

(6) Mari:
Takeshi: Yeah! I like it a lot too.

(A) 1 hate that color.
(B) That’s one of my favorites.
(©) This class is always boring!

(D) Which one do you prefer?

(7) Son: -
Father: OK, that sounds good.

(A) Do you think I've improved at the violin?
(B) TI'll do the dishes after I finish my homework.
(© TI'm sorry that I forgot to do the dishes.

(D) Is the music too loud for you?

(8) Customer: Can I have a medium iced coffee with some milk and no sugar?

Waiter:

(A) But you promised to buy me a matcha latte.

(B Do you want that in a cup or on a plate?

(© T'm sorry. We have only hot coffee right now.

(D It’s possible, but too much sugar will kill the coffee flavor.



(9) Meg: Excuse me, do you have the time?

Harry:

(A) 1It’s just before half past three.
(B Let me check my diary.
(C) No, but I have some mints.

(D) Sorry. I am busy all day.

(10) Mother:

Daughter: He is a bit strict, but he is very funny.
(A) What does he like?

(Bl What does he look like?

(© What is he like?

(D What is his laugh like?
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(D Information storage is getting cheaper and cheaper.
(A)  collection
(B) space
(©) measurement

(D production

(12 There was a heap of papers in the corner of the room.
(A box
B lack
C) pair
D stack

(19 In that book, how is the representation of women?
(A) absence
(B) description
© gift
(D) repetition

(9 The project is in the second phase of planning.
(A) discussion
(B) stage
© turn

D way



(» Many people don’t chew enough before swallowing.
(A bite
(B) breathe
© eat
D taste

(16 “I won the race,” the boy exclaimed.
(A) answered
(B) asked
(C) whispered
D shouted

(D Tt is a little too chilly for me.
(A) bland
B cold
© hot
(D spicy

(8 His test score is literally one in a million.
(A) almost
B)  luckily
© never

D  truly

(19 The computers work in parallel, speeding it up.
(A)  quickly
(B) quietly
(©) randomly

(D) simultaneously
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When I saw the lightning, I started to count.
(A) bright flash in the sky

B electric lamp

(© spark from a plug

D truth

There was some unaccompanied baggage that had not been claimed.
(A) child

B luggage

C) prize

D ticket

What is the formula to convert miles to kilometers?
(A ruin

B) rule

(©) rumor

O rush

That green statue over there is a symbol of liberty.
(A) free choice

(B) free education

C) free goods

(D) free travel

Taking away the video game is a strict punishment.
(A) behavior

(B loss

©) penalty

D result



(25 The data complicated the scientist’s plans.
(A) changed
(B clarified
© confused
(D simplified

(6 It blew up and everyone started to run in different directions.
(A) became angry
(B) exploded
(©) gained in weight
(D) decreased

@0 1t seems that the situation is dynamic.
(A) constantly changing
(B) difficult to understand
(C) easy to predict
D loudly exploding

(® The fine detail in the painting was elegant.
(A beautiful and delicate
(B) beautiful and surprising
© difficult and attractive
(D) difficult and rare

(9 The newspaper editor worked all night to make sure the deadline was met.
(A) person who selects stories
(B) person who writes stories
(C) person who tells stories

(D) person who illustrates stories



B0 Live streams on various internet platforms have popularized chess.
(A) flows of electricity
(B) flows of users
(C) flows of data

D flows of water
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@) Once upon a time, when an old woman was washing clothes at the river,
came floating down.
(A) a peach
(B) and peach
© peach
(D) which peach

32 The company _____the rent.
(A) has paid
(B) has paying
(©) has pay
O will paid

(39 We should change the menu depending _____ the customer.
A in
B on
© to
D with

) My teacher promises _____ the mistake as soon as she can.
(A) correcting
(B) corrects
€) to correct

(D will correct



@) I ___ on this assignment for two weeks now.
(A) am working
(B) have been working
(C) had been working
D worked

G0 Whatis ____ teachers, when we have computers to teach us?
(A) the use of
(B) the using of
© to use

D) using

@) It ___ true if the government is saying it.
(A) must
(B must be
(C©) must being

(D must have

B9 The gift ___ to thank the teacher for her hard work.
(A gave
B give
(©) has given

D was given

39 Sue felt ___ during the meeting.
(A) bore
(B bored
© bores
(D) boring



)

My students are all ___ readers when they are studying.
(A) careful

(B) carefully

(© carefulness’

(D caretake

______players on my soccer team enjoy practicing hard.
(A)  Almost

(B) Every

© Most

O Much

The building _____ the test will be taken is quite small.
(A) that

(B) where

(© which

D who

Ilike __ fishing with my friends in the summer.
A go

B togo

© togoto

D to going

The document ______ this pfocess is in the laboratory.
(A)  in which explains

(B) it explains

(C) that explain

(D) that explains



Next, add ____ salt to the soup.
A afew

B) alittle

© few

D little

Our teacher said that there an exam the following Monday, but there

wasn't.

A is

B) are

€ will be
D would be

seen such a splendid piece of art.
(A) I ever have rarely
(B) I have ever rarely
© Rarely have I ever
(D Rarely I have ever

We shouldn’t really go camping this weekend
(A) about

(B least

© with

(D unless

I would if you could éheck this for me.

(A) appreciate it

(B) appreciative

(©) be appreciated
(D be appreciative it

the weather is good.
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We've never seen ____ face.
(A) each other

(B) each other’s

© ourselves

D ourselves’

about the environment.

I
(A) am concerned

(B) am concerning
© concern
(D) concerned

During the last World Cup, we had a chance to see the Japan team
their best.

A at

B by

© in

D on

These days, more and more people want their houses to be built of
(A wood

(Bl wooden

© woods

D wood’s

If it is not raining, I ___ fhere.
(A) am being

(B) have been

© was

D will be
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My parents said they’d be back in time, so we should clean up soon.

no
non
none

not

Our special guest will be arriving the office in ten minutes.

(A)
B
©
D

I_

(A)
B)
©
D

at
between
by

into

a number. Can you guess it?
think

think to

am thinking

am thinking of

IfI from the future, I would bring a lot of new devices.

A
B
©
D

am
are
were

would be

I wondered how I could her better.

(A)
B
©
D

get knowing
getting knowing
getting to know

get to know



60 The pain in my throat made

me speaking
me to speak
my speak

my speaking

very difficult.
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ZOBAIBBENTNAXEICONTIE, FEELOMBANSART 5T EBTEEL A

Adapted from: Jeffries, L and Mikulecky, B. S. (2012) More Reading Power 3. Pearson Education.

6) The elephants have bells around their necks because
(A) Indian farmers need to show who the owners are
(B) Indian farmers want to avoid elephants
(C) the elephants can’t eat plantations

(D) the noise alerts farmers when the elephants try to eat bananas

62 What do the elephants do with the bells?
(A) They fill them with mud.
(B) They secretly hide them in mud.
(C) They stamp on and crush them.

(D They wear them before going to the plantation.



COBHBBEINTOBNEICONTIE. EHEELOMENSART I LB TELRA.

Adapted from: Harari. Y. N. (2015). Sapiens: A Brief History of Humankind. Harper.

63

()

Before the Scientific Revolution, most humans believed that the Golden Age

(A) would arrive with the Scientific Revolution
(B) would come if we overcome the fundamental problems
(©) was in the past

D would never come

Which of the following is true?

(A) After the revblution, the world could finally reach a stable stage.

(B) People thought even religion could not solve the fundamental problems.

(©) The goal of the revolution was just to improve small things in our daily
lives.

(D The number of human cultures did not increase much until the

revolution.

Which of the following topiés is most likely to follow this text?
(A) why God failed to solve the fundamental problems

(B how human cultures could deal with significant challenges
(C) what caused the world’s fundamental problems

(D) how we improved small things in our lives
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Adapted from https./www.britannica.com/biography/Helen-Keller

66 What is implied by the text above?
(A) Keller had trouble with her teacher.
(B) Keller was intelligent.
(C) Keller did not enjoy learning.

(D Blind people often did not receive an education.

67 Which of the following is NOT known from the text above?
(A) Keller died in 1936.
(B) Keller was ill as a child.
(© Keller received an education.

(D Keller’s teacher died in the 1930s.

6® Which of the following topics would most likely follow the text above?
(A) details of Keller’s illness
(B) Keller’s educational achievements
(C) Keller’s political career

(D details of the teacher’s death
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Adapted from: Jez. (2018, August 2). Why is anime so popular?

https:/www.thejapaneseshop.co.uk/blog/why-is-anime-so-popular/

69 Which of the following is NOT known from the text above?
(A) Anime is popular in the UK.
(B) Anime has recently increased in popularity.
(©) Manga is popular in the USA.

(D Manga is popular with Japanese living overseas.

(10 Which of the following is NOT true?
(A) Anime storylines are powerful.
(B) It is easy to guess the end of an anime series.
(©) Anime is connected to the Japanese identity.

(D) Anime is for a wide variety of people.




COBFCBBENTNSIXEILONTE, FHELOMBENSART S LBTEE A,

Adapted from: Wesley, Y. (2021). PlayStation just had its best ever financial year as PS5 sales hit
7.8m. https:/www.eurogamer.net/articles/2021-04-28-playstationjust-had-its-best-everfinancial-year-

as-ps 5—sales-hit—A7—8 m

(T) Which of the following limited the sales increase?
(A) microchips
(B games
(€ supply

D extra features

(1) How long did it take Sony to sell 7.8 million PlayStation 5s?
(A) one month
(B) three months
(C) one year

(D five months

() Which of the following is NOT true?
(A) The PS5 is a successful product.
(Bl The PS5 has limited availability.
(C) The PS5 is available at most retailers.

(D) The PS5 launched in November.




COWFITH/BENTOBIXEICDONTIE, EELOMEISART I EHNTEE A,

Adapted from: Oka, M.; Tsutsui, M.; Kondo, J. (2009). Tobira: Gateway to Advanced Japanese:

Learning through Content and Multimedia. Kurosio.

() What is the main purpose of the text?

)

(76)

A
B
©
D

to give language learning advice
to explain the purpose of the textbook
to motivate the reader to study Japanese

to explain what effective communication is

Who is the textbook NOT targeted at?

intermediate level learners of Japanese
learners with little experience of Japanese
learners with some knowledge of Japanese culture

learners who can read some kanji

Which of the following is true about the textbook?

(A)

=)

It focuses mainly on communicating well.
Its two main goals are grammar and vocabulary.
It introduces kanji reading to the learner.

It focuses on general Japanese improvement.




COBSFIH/BESNTNBXEILONTIL, EFELOMBELSARTHENTEL A,

Adapted from: Kateman, B. (2017). The Reducetarian Solution. Penguin Random House.

(T What is the main purpose of the text?
(A) advising people to become vegetarian
(B) advising people to change their eating habits
(C) warning people about the risk of producing meat

(D) warning people about the impact of meat consumption on our planet

(M Which of the following is true?
(A) On average, people eat around 200 pounds of meat annually in the
world. »
(B) People are unsure whether to reduce their meat consumption.
(C) There is a connection between eating meat and diabetes.

(D) It is not important to know the reason for high meat consumption.




COBHBBENTNBNEICONTIE, FHELOMENSAETS - ENTEEL A,

Adapted from: Lynn, B. (2021, April 28) More US companies now offering 3D printed homes.
https:/learningenglish.voanews.com/ a/more-us-companies-now-offering-3 d-printed-homes/5869993.

html

(M What does “helping solve the shortage of affordable housing” imply?

(A) 3D printed homes can be purchased by low-income families.

=3

3D printed houses last longer than traditionally built houses.

@

3D printers can produce high-tech homes.

S

3D printers can produce bigger homes.

@0 Which of the following is true?
(A) 3D printed homes seem popular.
(B 3D printers are operated with solar power.
(© 3D printers are used because there is a shortage of human builders.

(D) The safety of 3D printed homes is guaranteed.
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ZOBAIARETNTOBXELONTIE, BEMLOMEN SART S ENTEE LA,

Adapted from: “China’s Mars Rover Mission Lands on the Red Planet”, New York Times, May 14,

2021, URL: https./www.nytimes.com/2021/05/14/science/china-mars.html
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How many nations have completed a mission to Mars?

A
B
©
D

accident
achievement
extreme

incident

disaster
release
mission

news

challenger
launcher
researcher

scientist

past
important
narrow

usual

heard
known
read

said

one
two
three

unknown



@) State media said the landing happened on Saturday and not Friday because

(A) the landing occurred on Saturday morning as calculated from America
(B) the landing occurred on Saturday morning as calculated from China
(© the landing occurred on Saturday morning as calculated from Mars

(D) the news was incorrect

83 A NASA representative stated the landing would ____
(A) help improve overall understanding of Mars
(B) help improve understanding of the moon
(© help improve understanding of some Martian rocks

(D collect four pounds of Martian rocks and soil

@) How does the passage describe Chinese state media reports about the
landing?
(A) State media normally publishes a lot about these events.
(B) State media normally does not publish a lot about these events.
(©) State media reported the Mars mission closely before the lénding.

(D State media reported the landing live on social media.

90 What is the main purpose of this news story?
(A) to inform readers about the planet Mars
(B) to explain the process of reporting science news in China
(© to inform readers of the progress of China’s space program

(D to inform readers of the progress of China’s moon mission
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Adapted from: “Japan to build new icebreaker for researching Arctic region”, Asahi Shimbun, April

12, 2021, URL:http:/www.asahi.com/ajw/articles/ 14329185
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Which statement is true?

accomplishments
conflict
research

resources -

common
effective
melting

rising

denies
fears
hopes

wonders

but not
éxcept
throughout

including

weight
which
worth
width

(A) The icebreaker Shirase can move through ice 1.5 meters thick.
(B) Construction of Shirase will begin in 2021.
(© The new icebreaker will move through ice 1.5 meters thick.

(D) The new icebreaker will weigh 128 tons.



@) Which statement is NOT true for increased Arctic exploration?
(A) All possible winter observations have already been made.
(B) Countries are competing for access to resources.
(C) New scientific observations can be made.

(D) Reduced sea ice helps people access new resources.

@® Which of the following phrases best describes what an icebreaker is?
(A) an Antarctic research project
(B) a global trade route
(©) an underwater vehicle

(D) a research vessel

99 How will the new icebreaker be used?
(A) for research in the Antarctic Sea
(B) to stop other countries from launching their own icebreakers
(C) to study the effects of global warming in the Arctic

(D to study the effects of global warming in Japan

00 When is the new icebreaker likely to start operation?
(A) between 2021 and 2026
(B) from 2026
© Defore 2026
(D) winter in 2021



